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141 NE R= 42 39 81 11.9 69. 1 591 S XA 47 49 96 13.9 82. 1
26iL 2H F— 43 42 85 14.1 70.9 601z A+ RAE 42 45 87 4.9 82. 1
3L FE HE 39 37 16 4.9 71.1 611 iAo — 47 50 97 14.9 82. 1
(33 INTE 39 38 11 4.9 72. 1 62431 EE BF 45 45 90 7.8 82.2
5L Af = 45 41 86 13.1 72.9 6313z AH ®F 50 46 96 13.6 82.4
6L =R 40 40 80 6.9 73. 1 64431 ST 41 44 85 2.2 82.8
16L AR 39 44 83 9.9 73. 1 6513z S 44 45 89 6. 1 82.9
8L WA K 36 43 79 5.9 73. 1 661z = $EE 47 46 93 10. 1 82.9
9L A s 38 45 83 9.9 73. 1 671 EIE = 48 45 93 10. 1 82.9
1042 B B 39 41 80 5.9 74. 1 681z T3 53 44 97 14.1 82.9
1142 TR F#sh 40 43 83 8.9 74.1 691z ENTLCS 49 50 99 15.9 83. 1
1241 R B 41 46 87 12.9 74.1 7042 ZH ER 42 53 95 11.1 83.9
132 El F— 36 42 18 3.9 74.1 1141 REEES 47 49 96 12.1 83.9
1441 Bl &E 38 44 82 1.6 74.4 1241 Bl _#A 42 48 90 6. 1 83.9
1541 ZH _FEsh 44 43 87 11.9 75. 1 1341 Z BB 49 48 97 12.9 84. 1
1642 SHE_E 44 47 91 15.9 75. 1 1441 wlll ER 50 50 100 15.9 84. 1
1742 =1 45 41 86 9.9 76. 1 7541 HifE = 50 50 100 15.9 84. 1
1841 BRI @/4E 46 44 90 13.9 76. 1 1641 I 46 51 97 12.9 84. 1
1942 ER_BA 41 41 82 5.9 76. 1 1741 TR Bk 48 45 93 7.9 85. 1
204z RE BX 41 43 84 1.9 76. 1 7841 =K MiE 47 51 98 12.9 85. 1
2141 AH #* 43 47 90 13.9 76. 1 7941 Wi F— 45 52 97 11.9 85. 1
2241 BmE_ AS 44 48 92 14.9 17.1 801z AR EE 51 50 101 14.9 86. 1
2341 aE _#FA 44 49 93 15.9 77.1 8141 o = 51 51 102 15.9 86. 1
2441 mE 5 40 46 86 8.9 17.1 8211 DEEERS 44 47 91 4.9 86. 1
2541 s E 37 47 84 6.9 77.1 8311 55 BE 47 51 98 11.9 86. 1
2641 BE ET 48 45 93 14.9 18.1 8441 HK _KSF 47 53 100 13.9 86. 1
2741 s B 44 45 89 10.9 18.1 8541 wig_ JX 44 53 97 10.9 86. 1
2841 T8 Esh 42 46 88 9.9 18.1 8641 gl R 44 58 102 15.9 86. 1
2941 =Kk _H®E 42 46 88 9.9 18.1 8711 JIME xF 47 51 98 11.8 86. 2
304z Pk =5 43 50 93 14.9 18.1 8811 RT EF 52 48 100 13.6 86. 4
314z TH WX 42 44 86 1.8 18.2 8911 B St 51 47 98 11.1 86.9
3241 KA =& 42 48 90 11.1 18.9 904z e FX 49 53 102 15.1 86.9
3341 MO E— 48 46 94 14.9 79.1 914z fiois  #85%E 53 48 101 13.9 87. 1
3441 A =X 45 45 90 10.9 79.1 9211 K BRI 44 50 94 6.9 87. 1
354 Bl AE 44 50 94 14.9 79. 1 9311 Bt #iE 47 53 100 12.1 87.9
364z ® BE 45 47 92 12.8 19.2 9441 EE 51 46 97 9.1 87.9
374z E Bx 43 51 94 14.6 19.4 9541 AHZx =5 50 48 98 9.9 88. 1
3841 B IEX 44 43 817 1.6 19.4 964z ®iR RH 48 51 99 10.9 88. 1
3941 TR R 45 45 90 10.1 79.9 974z tE  FER 51 52 103 14.2 88.8
404z =Sl REs 43 43 86 6.1 79.9 9841 H_=EH 49 51 100 10.1 89.9
414z =5H BE 45 42 817 1.1 79.9 9941 Bl fB— 55 50 105 15.1 89.9
4241 2a BB 47 44 91 11.1 79.9 1004z Bl ARR 52 49 101 10.9 90. 1
4341 Bl &4 50 42 92 12.1 79.9 1014z Tl w=E 47 54 101 10.2 90.8
4441 AR & 43 43 86 5.9 80. 1 1024z =R RE 51 55 106 15.1 90.9
4541 BH R 44 47 91 10.9 80. 1 1034z AT BEXR 53 50 103 12.1 90.9
4641 HE B 41 49 90 9.9 80. 1 1044z E PN 55 48 103 11.9 91. 1
4741 XK EIE 49 45 94 13.6 80.4 1054z fBE ki 50 55 105 13.9 91. 1
4841 dA B 43 47 90 9.1 80.9 1064z hE FME 50 57 107 15.9 91. 1
4941 XHF E= 45 47 92 11.1 80.9 1074z FH HA 49 50 99 5.9 93. 1
504z WX F5 48 48 96 15.1 80.9 1084z bt 55— 42 65 107 13.1 93.9
5141 Hf FE 47 44 91 10.1 80.9 1094z WH  E—ER 46 63 109 15.1 93.9
5241 7R X 49 47 96 14.9 81.1 1104z 2R = 51 51 102 1.9 94. 1
531 =3 45 45 90 8.9 81.1 1114 Bl EZ 50 58 108 12.9 95. 1
5441 HE T 47 50 97 15.8 81.2 1124 =X XRE 54 53 107 9.2 97.8
5541 RE HAE 50 46 96 13.9 82. 1 1134 & =¥ 53 59 112 13.9 98. 1
5641 NN fE— 45 45 90 1.9 82. 1 1144 ZH I 55 58 113 9.9 103. 1
5741 EH HE 42 43 85 2.9 82.1 A—FFE BHE Bk 41 43 84 13.9 70. 1
5841 I #x 48 49 97 14.9 82. 1 A—FERRE R EX 45 40 85 14.1 70.9
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